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2. Selve.

504 +-14=
A. 3.6

B. 3.06

C. 0.37

D. 0.36

3. Selve.
8.90 — .26 =

A. .864
B. 3.452
C. 8.64
D. 8.74

Decimal CFA

rust show your work to

4. The length of a side of each small square is 1 tenth or 0.1

Which model represents 0.4 x 0.5 =0.20?

A.

5. Find the sum.
22+0.14=

6. Mr. Wilson bought 12 cans of tuna for $10.68.

What is the price of 1 can?

A. 50.89
B. $0.79
C. $0.69
D. 50.59
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7. At the 1990 Central Elementary Field Day, the winning time for the overall girls' 100 meter race was
58.83 seconds. The winning time for the overall boys' race was 44.97 seconds.

How much faster did the winning boy run than the winning girl?

A. 5.67 seconds
B. 10.22 seconds
C. 13.86 seconds
D. 103.80 seconds
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What decimal is represented by this set of base ten blocks?

1,235
12:35
1.235
1.325
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10. Anne Marie’s bicyele route is 1.76 miles long. She rides her bike along this route every day for 11
days. How many miles does she travel in 11 days?

A. 12.76 miles
B. 18.36 miles
C. 19.36 miles
D

. 19 miles

11. Solve.
452 -2.07=
1.45
2.45
2.55
6.59

= 0P

12. The following chart shows the temperatures that Tony recorded at recess this week.

Temperature in

Days Degreses Farenheit
Monday St FoF
Tussday coivid o

Yi'zdnesday 89 5¢°F
Thursday BE.1 o
Friday 8259 F

ES

What is the difference between the highest and lowest temperatures on Tony's chart?

A. 92°F
3. 10.7°F
B 2 e |
11529
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13. What is the sum of this addition problem?

962
125
b 5.7

A, 2582
B. 1124
C. 25.82
D. 2.582
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